
2 

2 

4 

 
 

# PART # 

DWG# 

43-P550HE11 
DESCRIPTION QTY. 

DESCRIPTION: 

P550 P&E Module 
Rev Date: 

3/22/2023 

1  42-900-03 
42-900-02 

2   HW-421005 
3   42-550-31 
4  41-550-000 
5   FT-TW12B 
6  42-950-600 
7  FT-GAL-SE14 
8  FT-3EL100 
9  LS-120125 

Belt Guard Double Sided 1 
Belt Guard Single Sided 1 
B47 Belt 2 
P550 Pulley 1 
P550 Pump 1 
½" MNPT x ½" HB Swivel 1 
Gauge 0-600psi 1 
¼" Street Elbow 1 
1"MNPT x 1"HB 90° Poly Fitting 1 
1¼ Banjo Suction Filter 1 

 
 
 
 
 
 
 

 
5/16" Washer 

5/16" Lock Washer 
5/16"x¾" Bolt 

19 
18 

 
17 

 
1 

 
 
 
 

5/16"x¾" Bolt 
5/16" Lock Washer 
5/16" Washer 

10   FT-3SE114 
11 FT-3LL34 
12 FT-3A34 
13 42-550-28 
14 RM-000009 
15 FR-12028PE 
16 EP-210101 
17 EN-HE13 
18 EN-210002 
19 EN-200004 

1¼" MNPT X 1¼" FNPT Fitting 1 
¾"x¾" FNPT Fitting 1 
¾" MNPT x ¾" HB Poly Fitting 1 
P550 Pump Bracket 2 
2"x¼" A36 Flat Bar 1 
Large Pump & Engine Plate 1 
Tach/Hour Meter 1 
GX390 Electric Start 1 
Honda Muffler Deflector 1 
Pulley Engine 2½"ODx1" Bore 1 

12 1 " 

2 

5/16" Nut 3 
5/16" Lock Washer 

5/16" Washer 

5 
6 
7 

 
8 

9 
 
 
 
 

43" 

14" 
 
19" 

16 
10 

11 
12 

13 
Serial # Plate 

 
 

   19 1 " 

5/16"x¾" Bolt 
5/16" Lock Washer 

5/16" Washer 
 

14 
 
 

27" 14" 

15 

https://www.gncindustries.com/product-page/gnc-double-sided-belt-guard-42-900-03
https://www.gncindustries.com/product-page/gnc-p550-b47-belt-hw-421005
https://www.gncindustries.com/product-page/gnc-p550-pulley-10-ref-31a-42-550-31-1
https://www.gncindustries.com/search?q=FT-TW12B
https://www.gncindustries.com/product-page/PressureGauge-GNC600psi42-950-600
https://www.gncindustries.com/product-page/gnc-p530-1-4-street-elbow-fitting-for-pressure-gauge-ft-gal-se14
https://www.gncindustries.com/product-page/1-elbow-fitting-1-mnpt-x-1-hb-ft-3el100-1
https://www.gncindustries.com/product-page/1-2-to-1-o-ring-for-norwesco-suction-filter-no-61537
https://www.gncindustries.com/product-page/1-1-4-fnpt-x-1-1-4-mnpt-street-elbow-poly-fitting-ft-3se114
https://www.gncindustries.com/search?q=FT-3LL34
https://www.gncindustries.com/product-page/3-4-mnpt-x-3-4-hose-barb-straight-poly-fitting-ft-3a34
https://www.gncindustries.com/product-page/gnc-p550-pump-stands-set-of-2-reference-28-42-550-28
https://www.gncindustries.com/product-page/large-gnc-pump-and-engine-plate-fr-12028pe
https://www.gncindustries.com/product-page/tach-hour-meter-ep-210101
https://www.gncindustries.com/search?q=EN-210002
https://www.gncindustries.com/search?q=EN-200004

	P550 P&E Module
	3/22/2023
	19
	5
	19"
	10
	14


